GV (Q)[GV] Cfnas as(My)  Eep) H(PDF)  £(NP) kseale)

ms[ GeV] X2 /naot  as(Mz) +(exp) +(PDF) £(NP) =(scale)
664-794 361 45/3 01232 00015 0001 00007 F00044
794-938 429 7.8/3  0.1143  £9993%  £0-0019 +£0.0008  £J-99%3
938-1098 504 0.6/3 0.1171  £3393%  £0.0022  £0.0007 5598
1098-1369 602 2.6/5 0.1152  40.0026 439927 490008 4.0.0000
1369-2172 785  8.8/13 0.1168  £J9918 00030 40.0007  4.0.0008
2172-2602 1164 3.6/5 01167  £5:9037  £9:999%  £0.0008  £3-39%3
2602-3270 1402 55/7  0.1120  £3:9943  £0:0056  40.0001  +£9:9988
Y| max < 1 413 10.3/22  0.1163  £39918  +0.0027 £0.0007  +9-9952
1 < Y| max < 2 441 10.6/22 01179 £5:998  +0.0021  £0.0007 439957
Y| max < 2 438  47.2/45  0.1171  £0.0013  40.0024 £0.0008  £9-3952




